R

e a— e e S0 RS

.

Booklel Serics D Register

COCE T

:

I GuGs é}bﬁlés&,eq[n <

Number

2011
GENERAL KNOWLEDGE WITH GENERAL ENGLISH

Time Allowed : 3 'Hours } [ Maximum Marks : 300
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IMPORTANT INSTRUCTIONS
This Boeklet has a cover { this page } which should not be opened tlll the invigilator gives signal to
open it al the commencement of the examination. As soon as the signal is recetved you should tear
the right side.of the bocklet cover carefully to open the booklet. Then proceed to answer the
questions.
This Question Booklet contains 200 questions.
Answer all questions. All questions carry cqual marks.

The Test Booklet s printed in four serics e.g. or (Sce Top left side of this page).
The candidate has to indicale in the space provided in the Answer Sheet the serics of the booklet.
For examg :, 1* " he candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheel wot 7slar or Bla_(:k'lnk Ball point pen as follows

¥
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You must write your Register Nurioc, i tbs space provided on the top right side of this page. Do
not write anything else on the Question ’A()":kfkl.

An Answer Shectl will be supplied to you serfravt, o, the Invigllator to mark the answers. You
must write your Name, Register No, andyother peiliculars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluatea. '

You will also encode your Regisier Number. Subject Code e .. wit» 2lue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you au nrl encode properly or fall to
encode the above information, your Answer Sheet will not be evalualed

Each question comprises four responses (A), (B), {C) and {D}. You are to fclect ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best, In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responscs marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets | A j | B || C ] and | D | against each question, To
answer the questions you arc to mark with Ball point pen ONLY ONE bracket of your choice for
each question, Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for, any item, (B} is the correct answer. you have to mark as follows :

(AT (CI{D]
You should not remave or tear off any sheet from this Question Booklet, You are not allowed (o take
this Question Beoklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Shect to the Invigilator. You
are allowed to take the Question Booklet with you only afier the Examination is over.
The sheet before the last page of the Question Booklet can be used for Rough Work.
Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion. ‘
For Question Nos, | 1o 100 in all matters and in cases ol doubt, the English Version is firial.
Do not tick-mark or mark the answers in the Question Booklet.

[FTAMIL VERSION OF INSTRUCTIONS IS PROVIDED ON THE BACK COVER OF THIS BOOKLET
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o°o|51o°ou!j;§( FIFA ) 2010 glparar ‘auében ubsm ey urLeve Ur. euritiy unheg

)

A): s‘i%ésafgrr ' ' B)  g.&f. papwre
C) @mmwgwggn D) wllmemn.

_ Who_pr;;esented the FIFA 2010 song ‘Waka Waka' ?.
A)  Shakira B} A.R.Rehman
C) llayaraja D} Madona.

A} gleod ' B) &g

C) . Geenmy - D) pred.

The flood hazard in Pakistan during July 2010 is due to the flood in
A) '-Jahelunx ' - B) Indus

C)  Chen:b ] D}  Ravi.

2 awdlCabu Glufrs g flu e&dloyae g 2 sheng 7

A)  ev@uiller _ B) Guridased
C). - gGumiur - ¥ D) peiwur.
Which .',_is the largest solar power p}am\ﬁ'. e werld ?

Al Spain S pevage

C) Europe ' D) Rusgsia.

, g@ma; ZEZOIO & urdlavgreias gpul Qeustery GuiiLi giLL.& sryamTe HE

2010 oy egsene o . SNrwr sraulss olwa soe whpid &éwré&rrr;

giempes Gubment
A) - all. . gerghOigue whpib FTHST 56076 Glsguted
B) afﬂgm grhd)

C)  ugwr sijeiub

D) &HeMoesiL aub &l(heiuems e .

G. D.j:’:[?virla International Award in art and culture category for the year 2010

was given to
A) V P. Dhananjayan and Shantha Dhananjayan
B)  Vijay Sh anthi

.C) - Padma Subramaniam

D) JKalamandalam Krishnan,

[F481]  wcxx(T80Z] 701
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5. ydusre sfliwsuudsduyaier @pdu amurdet @O ahs asHar eugeubdlc

S{EODHGI6M 6N |

A)  Gumoed erdpsss B) Gaeunred erqpss

C) bl aapse ' D) {A)wbpid (B) @pesm@id
The newly introduced Indian rupee symbol is based on -

A) Roman script B) Devanagiri script

C)  Tamil script , D) Both (A) & (B).

6. s USHTEU[H sTeHoS Ghdu e LG bsaEsTa UssTETL e Halss

o_efiengy ?

A) 1950-1960 B} 1980-1990

C)  2000-2010 D) 2011-2020.

Which decade is declared as the ‘Decade of Innovation' by the Government of
India ?

A) 1950-196G ‘ - B) ‘1980-1990

C) 2000-2010 9 D) 2011-2020.

7. 2010 b S @RTGEN ‘ST %[Drpsu r !jarr!'iw 2 &4l LTHTEH" eriuE HeL_Clubhngy 2
A)  AGwr-q-QgeN Gy \ ) ured)
C) | Qepesfeur D) eumergan e,
What was the venue of ‘Nueclear Security Summit 2010° ?
A) rRio de Janeiro ' B) Bal
C) Geneva D) Washinglon.

8. 12010 @ Qurpelugsars Grrud uflel Cupraeufler Quurt edrer 2
A) Ol Cwipedt ' B) Gué wrr_en@aed
C)  dfenGirut eremgl ev . D) uré snpCeucise.
The person who is not awarded Nobel Prize in Economics in 2010 is
A) Peter Diamond B) Dale Mortensen
Q) Christopher Pissarides D} Paul Samuclson.

9. 268 it @ Sal L 2009 & pLBH GLb
A)  GLradlGurr B) wreéuGar

C) @evgmediten ' D}  epGrmd.
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10.

11.

12.

2 ' NIAKRT
The'mecting of the World Water Forum was held in 2009 at
A) Tokyo B) Moscow
C)  Istanbul D) Nairobi.

GDD euPpd@ Levrestiley ghubSLTe sfusd, ( 2010 ) & 2 sapdlnansdld HmHsss,
Sp Qar@asiul Geiencupdles eg) sflureig 2

A) @bpaurdilemer sg Qe linéenl T8

B)  C.B.IL aflgnyenesst Qeiwsen. me

C)  grés bEHbs LHRD Cur s Blyb sEalaw 2 LBLTHIUDSS saL g
D) Gleubmst o sieyblévemen.

~ Which among the following is correct with reference to recent ( 2010 ) Supreme

Court remarks over criminal case investigation ?

A) ‘N0’ to arrest any criminals

B) ‘No' (o C3I inquiry

C)  'No to lie uelrctur a..:.._d' narcotesting

D)  None of these. ‘

Sjbeor { Hamla ) poug bems aTesipined |

A) Glgeementls UTgemiY g{mwi'ﬁ}&@m are e serpud Ceiha BLSSL LrgsTIY
& Fems | :

B) sblpnrige Gpcodlsards 2 busdlau @ug,ér@mg;sjj&mas HLang bens

C) el aaabller e Gonlushara U geo Sidléams (peop

D) - @eubmiel ergieybdldvanen.

Operation 'Hamla' means

A) security drill conductéd by the police and security agencies in Chennai

B}  operation to increase the production of Amla in Tamil Nadu
C) new surgical technique to reduce body weight ( human )
D) none of these,

Y. V. Gyl gpiia) GQuimile aow sukdldles seutemyre wuri Glubdlésnul ot 2
A) " Dr. @pdlym mieymepes | B)  Dr. glefi emmal
C) Dr. aflgi L. Gadst D)  dkp. D. soumgrel.

xxxx [16502 ] ' 701 ‘ [ Turn over
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Who has been appointed as the RBI Governor after the retirement of

ShriY. V. Reddy ?

A)  Dr. Indra Rangarajan . B) Dr. Dilip Sanghvi

C) Dr. Vijay L. Kelkar D}  Shri. D. Subba Rao.
13. 2009 b sycorgharear Ghdrenbd Siwd) ufae Qubpeurt

A) Opéser e e B) @L_QSIL; Cawemed

C)  godlwur Heeori® - D) Geys apdle.

The recipieht of Indira Gandhi Prize for Peéce in 2009 is

A} Nelson Mandela B) David Cameron

C) Julia 37 ]lard D)  Sheikh Hasina.

14, wlguwd I s vlgws X 9_14-:"7-: Qurmsd, £Cp Corfaslu ferea GHSHamens |

Qamegor( &iflwimes aS]cmL_Gmng BB B0

uligué I . E uligwe II
%

( H&ﬁﬁfﬂ ) gy Anwd )
a) g Uiflaflevgen 1. wrig e Gamel
b) G ISHTIT | 2. GOgreamgsy GL&
o) - anmi® Gaden " 3. g6 wdee.

el -
| a b c

A) i 2 3

B) 2 3 1

D) 2 1 3.
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Match List 1 with List 11 correctly and select your answer using the codes given

below :
List I List II
{ Books ) { Authors )
: a)  The Privileges 1. Martina Cole
) b) Awvtar 2. Jc.)nathan Dt-EC
' ¢)  Hard Girls 3.  Dic Mathison
Codes :
a b c
A) 1 2 3
B) 2 3 1
= C) & Z &
D) 2 1 3. »

d

15. 2010 ev, e'hs prriige Gy wetrleudy M orhph Gleiwiul_fHererg 2
‘ \ :

Al yBs \ 1) rraigeum

C) seiLm D) Gy

In 2010 which country changed its time zones ?

¥

A) UK B) Russia
C) Canada D}  Europe.
16, @bslurallew, ..o, sroaToleuns eukdllle wahdlaer pbenuwlédr gyaen
2010 & Hlyeuiuc L g,
. A Quenonis B) g eudCredlum
C)  seLn D) Sjureunhg.
Commonwealth Bank of .................... in August 2010, opened its first Branch in

India in Mumbai.
A) Denmark B) Australia

C) Canada 7 |8} Ireland.

XXXX 701 [ Turn over
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18.

19.

20.

.................... 2 g pIil el (paepepwTs
&m&@ﬁq&e’ﬂuif_@.

A) 29 gligev 2010 A B} 29 GQslL.but 2010

C) 29 spemreufl 2010 ) D) 29 Sugeufl 2010.

The ice cubes were first discovered in one asteroid on

A) 29th April, 2010 B)  29th September, 2010
C) 29th January, 2010 D)  29th February, 2010.

Qiduralped Gead Criuralped Gerle gpul  durg
60 & WS HT T BT 6T

A) 10 wrig, 2010 B} 15uwrié, 2010

C) 1 wrig. 2010 D)  5uwrié, 2010.
Riyadh D-cizration between India and Saudi Arat;‘ia was signed on
A) 10th March, 7710 ¢ B) 15th March, 2010
C)  Ist March. 2010 A D) Bth'March, 2010.
2012 gy gyesonghaTeot gpedliniilé S:Burrf v, 56T e GLiD LGﬁ&T‘@l_L'D

w

A) Rl y B)  Se)a
C) gQge&rey - D) shlenn,
2012 Olympic Gémes_ is to be held in

A) _bLendom ™ ' B)  Beijing

C) “Athens D)  Sydney.

LisslhaL g

ULGSD

@hgluremens apilysier prHseMe ahs BTG 6B sl @ pd s ewemen @b

2. (HeurHlyeens ?
A) e B) undlevgmen

C) @erisns ' D) uksaTCsey.

With which neighbouring country, has India created a joint river commission ?

A) China ' B) Pakistan

C) Sri Lanka - D} Bangladesh.

- : 701
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21, ulgwe I o vlgue H 2 dé Qurepsdl, dCp Gar@ésuu eien GhURsmens

Qeren® sfure ele_ows CaibOsd ;

a)
b}
c) -
d)
GBliGesr :
a
A) 3
B) 2
C) 4
D) 1

Ui wes I

a1 Geuliuiblemen hlepay

Queutiu wrdHfbm Blepey

eCarGuifls lapey

mGargGrmilé Kepay

P /R O T -~

C
)
4
2

3

y

1l
o

uligweé II

—

vV wried), P whmid T wirmud

&

T wriledl. P whgis V wrmid

@ .

@eulid 6 SewUHE
Signdléaiin Geur,
QeusNCupGeun @)dveney

. 4. Pwrdlell, T wpmibd V wmgib.

Match List I with List II correctly and s}w:c:f, sJour answer using the codes given

below :
a)
b)

c)

d)

Codes :
a
a3
B) 2
C) 4

) 1

ok | 1502

List I

i

Isothermal process

Adiabatic process

Isobaric process

Isochoric process

w N e

e

[

W

List x
1. V constant, P and T change
2. T constant, P and V change

3. Heat is neither allowed to enter

nor leave the system

4. P constant, T and V change.

701 ) [ Turn over
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22. oo ey GeL Qeuefllledr & whmid Biody erdemesst wenpGu 10 wHrb 40. @6

oW ol
A) 25-0° B} 12-5
C) 150 D)  30:0.

If the lower and upper limits of a class are 10 and 40 respectively, the mid-point

of the class is
A) 250 | | B 125
.C} 15-0 D) 30-0.
23. allpréseilear pago’ |
A)  &gbugd B)  s@hsrey
C)  wgeny D) 51@@;55\)(30;95].
‘City of Fustaa!' is
A) Chidambarar~ ) B} Tanjore :
C) Madurai A. D)  Tirunelveli.

24, uwligwée I g ulguen I 2 6 @un‘é@ﬁ £Gp Qer@ésiul.Geter GhiUGsmens
Qaneo® efurer alen_owg CurbGs®H :

L g uiés T uyés T
. al . GuryprussETT 1. Qewbersul {
b) eﬂsénsmm@r‘r 2. goserl
c) 2 deduly 3. yesloe
d}  a&bub 4.  devel.
eOllBeear
a b c d
A) 4 2 1 3
B) 2 3 2 1
C) 3 1 4 2
D) 1 4 3 4.

xxxx [ 1502 ] 701
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26.
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Match List I with List II correctly and select your answer using the codes given

below :
List 1 List II
a)' Bodmaickanur 1. Artificial silk
b) Chinnamanur 2. Cardamom
c) Usiiarnpatti "~ 3. Tobacco
d) Cumbum 4. | Biscuit.
Codes :

A) 4 2 1 3

‘BY 2 ’ 2 1

C) 3 1 4 2
D) 1 4 3 4.
Quorss 2 TG 2 Dusdse oHe Siee ﬁ.meﬂ,mm Qesrmd Siefdar eumeug
A)  Geuenmesmrenin ; EJ Glgrr@lbiwrr‘hj@ 2. husdlgeon
C) sLurarHaieon D} Goevsudgioon.

The largest contribution to GDP still comes from

A) agriculturc - B} manufacturing industries

C) consiruction D) services.

| Sesreumueurseiles (wpod ‘LThe ghHerm allmg @ubpeut wri 2 |

A)  C.gurgGarurersarfumt B) M. G. Quméehdlye
C) K. &rorpmg o D} M. S. slyel &l
Who among the following received the first ‘Bha.rat Ratna’ award ?
A) C. Rajagopalachari B) M. G Ramachandran

C) K. Kamaraj D) M. §. Subbulakshmi.

XXXX 701 [ Turn over
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27.

28.

29.

Geureol 1L Petr BlemgemL et eney flsb g6 arafley

A) g Flslugurs Qeuliub Semlcugldeme

B) 5 Ssgstuguret BlarGearm Lang ghudaeme .

C) & delugure Bearerpss Counuml §emen yeThs (g &lng)
D) e senal iu@id WetarwsHe Gapmi.ig ene WTHDTE.

The net resistance of a voltmeter should be large to ensure that

A) it does not get overheated

B) it does not draw excessive current

C) it can measure large pofcntial differences

D) it does not change the potential difference to be measured.

Lélé GuimPiles ey piresr LGS

A) wiflur o 6Pl B) Gurhsr 2i6H

C)  Jeliienustich <Al « - | D)  ©fCwn &Ll
| The deépest point in the Pio.’¢ :cean is

A) Mariana trench ' ' \1 2} = Tonga trench

C) - Phillippine trench N\ i)) Tu.le trench.

EPLHeatoTL saHNjeeT Slls :
I Gerlarandt G\TsHs eifboa saramel SHaflsn
II.  @erlarard Quss 5rro’.>§¥m§5]s&; SIETEE GEOMEGID.

@\submyer :
A)  Twhpp I sflureaama B) 1wbmd II seupmerans
C)  1afl gerre I seum D) 1seup e 11 e

Consider the following statements :

L Glucagon increases the blood sugar level.
II.  Glucagon lowers the blood calcium level.
Of these
A} .1 &Il are correct B) [ & Il are wrong
C) . lis correct but Il is wrong D) [ is wrong but Il is correct.

xxxx [1502] - [7oe1
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31.

32.

‘.

33.

13 MART
uetor & pHé Ceussans HL.OUURSSTH Gnmis el
A} eIl p&s Sjerey
B) cuanlle Hpeuesrseiisr elbusmen wéliny
C) - L6 cus daen
D} eurexilug @ipev.

Which one of the following factors does not influence velocity of circulation of

money ?
A) Quahtity of money - B}  Selling cost of business firms
C) Credit facilities . [}  Business conditions,

.gLIS]g)[ﬁﬂ'LLLq.G'\.J pibetandl genp eiCung gfldeaiui Lg 2

Al 1947 B) 1948

C} 1950 y D) 1952.

When was Zamindari e.ys’.é.rr. &bolished in Tamil Nadu ?
A) 1947 X . B 1948

C) 1950 % \ L) 1952,

l>|
Qu@thurrg:)rrwr WDITeUL_LLRig:Efley gyﬁgpgbrn'_qe'\j GObus Qsrdivre Qeriibhs Gbkbs
Qareo(® Q)wbUiLgl '

A} erdlps Gen e B) wassds Qe

C) HuoLgs Ggmfle D)  Jgs0srifie

....... ui........ continues to be the family occupation in most of the districts in
Tamil Nadu. |

A} . Paper ihdustry B} Handloom industry

C) Match industry D) Beedi industry.

4
PO aabailalbhs 24-96 o féeb Curg, g 2bHS 6 6o 6o e - DI RIGHT &
GpEDE. Db TRl GlevshsnnellsT FmBige g ?
A) 1 B) 9

cy 11 D) 10

xxxx 1602 : 701 [ Turn over
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34,

35.

36,

When 24 is subtracted from a number, it reduces to its four-seventh. What is

the sum of the digits of that number ?

A) 1 ' B) 9

o 1 D) 10
Gyrepfleaciie Gmeed 2 Ceorsiise

A} Mg wbmic Al B) Al wbmub Au
C) Mn ohHmb Al _ : D) Znwbmib Al
Duralumin contains

A) Mg and Al B) Al and Au
C)  Mn and Al D)  Zn and Al
Cudw Qe bare yye ghul L g eauCurg ?

A) 1946 | - B) 1948

C) 1950 V £ D 1952
When was the National Inteitn, G sverr ment formed 2

A) 1946 ' \_I ) 1948

C) 1950 *' D) 11452,

seiluat Lhgernenmi e a8t CBTL s Wl ?

A fops sallos

B) émhs preds

C)  epleluc  sllp aentédlese e galhd  woellds  Geuefleupd sl

Gl et QLT 6iT
D) mpaiyp Guobur@.
“Kaniyan Poongunranar” award is associated with
A) best poem

B) best novel

C) the software which helps for scientific Tamil development
D) urban development.

Xxxxx | 1602 701
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15 MART

@s&rm@mmmrj)gjsﬁ SgULIeRL. 2_eooTeuné LiwesTU(Revg)

A)  yihlur, Gurynédey _ B)  eed 2y, yifly

C)  NH;. KCl D) S8-ghGureflub wirelluGu.
Which among the following is a set of primary nutrients ?

A)°  Urea, borax B} Epsom salit. urea

C) NH;, KCl D}  S-ammonium molybdate.

utguwéed I o ulgud I 2L Gurpsdl, £CGp Qar@asiud Rerer @BliRsamens
Qo f efursn afloL awd CaTHRSE -

uligwé I ulgwe IX
a)  uesflurgy 1. eLéoy
b)  Hlesgy Bir 2. sfteg
) AW 3. @erGleneLmé
dj ey 4.  eurinfeiy.
oo -
a b ‘ '1
A) 2 4 ] =
B) 1 2 8] 4
o 3 2 4 1 o \
D) 4 3 2 L .

Match List I with List IT correctly and select your answer u.ug the codes given
below :

List 1 List I1
a) Glacier I. Pothole
b) Underground water 2. Cirque
¢)  River ‘ 3. Inselberg
. d) Wind 4. Lapies.
Codes :
a b c d
Al 2 4 1 3
B) 1 2 3 4
C) 3 2 4 1
D) 4 3 2 1.

XXXX ’ _ [ Turn over
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39. &Gy Qer@éssiu@eerameuselles sig seupmel QurGEaHiIL Herers) ?

A wHs allers Uysseaibd == Camidle

B)  myélbweuioes 2. cur gl Q& medorLmes
C)  aVlgdly fgge ’ — Ul LD

D) B euiwer : — Qpeoeyrflesr Guimi.

Which of the following is incorrectly paired ?

A) Mattavilasa prahasanam — Temple

B). Narasimhavarman _ — Vatapi Kondan

C)  Vichitra Chitta —  Tifle

D}  Nandivarman - Battle of Tellaru.
40. Pyl Lefldr geaflrey alldllle Q[Duurr.emgj |

A)  allwett @00 unitay @lld B) dliars ailg

C) G Gusi aldi D) Senmi allg).

Newton's law of cool'ing is a spg ia. c2se of
A) Wien's displacement law \\J;‘; ru-chhoff s law

C) ‘Stefan"s law D) Pieoldls lrw.
41. 2009-10 b cggpsamqeu LI &e ( Semeasa GuTmeTaaller ) & melg.n
A) 14-4% B) 10%
C) 8% D) 11%.
Annual rate of inflation of all commodities in 2009-10 was
A) | 144% B} 10%
C) 8% : D) 11%.
42, sshily @bHuralss wpoe sevenis 1Ny
A)  arsmT eusveoUrlr LGL 6 B)  eyeiiéli
Cy Ogsgleasyrd D) Guweorest.
- The first Dep{,lty Prime Minister of free India was
A) Sardar Vallabhai Patel B)  Charan Singh

) Jagjivan Ram D) Menon.

xxxx [1502 ) . 701
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43.

44.

45.

17
L & péveueng Hingdeame, ssar untflerGuoe g bler Gambp wéiy
A)  aawr @ sHabd sdleteeb .
B) érévaurm @ILBdlsnid @emmuyb
C)  ercveur B_sgleud swre B)HSHED
D) fle @rusdie sdefsan vhy Heo Gl swwrsan G)bsED.
If the earth stops rbtating. the aéparent value of g on its surface will
A) increase everywhere
3) decrease everywhere
C) remain the same everywhere
D). increase at some places and remain the same at some other places.

uretflur 2N cusmetwhissT Geubiié sreoi@elsipeot

A)  urd @& rldrGeninsger B}  2evCerGarbaser |

C) o CLrGenbae s ) Dy Lreligss @CyTGonGamibest.
Balbiani rings are found in \

A) sex chromosomes \ \ 3) a‘,lusomes'

C) autosomes Y D} pol,*:a= chromosomes.

Sen&GaTaTEe erevTLIENE

A) - _ysedr, Qeuetefl, yal wHD Gl& el

B} Qeuerefl, yal, Giesieumis whpid el ypeist
C)  elwmrpes], seh), yCremew wHumd OB g e
D) yedl, Qesteumis, efurpesr wibmib el
Terrestrial planets are

A) | Mercury, Venus, Earth & Mars

B) = Venus, Earth, Mars & Jupiter

C) Jupiter, Saturn, Uranus & Neptune

D) Earth, Mars, Jupiter & Saturn.

MART
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46.

47.

48.

XXX

QuIr g Wy STHHSHTE ,_gpf)\ml_]u@ﬁgjrrr'r ?

A) g{sdmmrrmm;su u@&@w& &ped Hlpalugme

B) @by wrdled qﬁ;u%é\w@m

C) wsorede m@mﬂ@é&mé& @;@@&l}u@g;fﬂmgm‘é\)

D) geallg Qaepmeren 7 ememriu éb.

"Potti Sri Ramulu is known for

A) founding of Annamalai University

B) creation of Andhra Pradesh

C) prohibition in Madras

D}  separate Telangan:;\ issue.

2009-10 Qurgyrc ey auetiédlilles s e mésg;emsmm&m@ wrhlewTs 2 _sfreig ?
A) 3oy | B)  4sug
C)  5eag | D) 6ag.

What ts the rank of Tamil Nadu in eco?hmzni > growth among the states in India
“during 2009-10 ? p

A)  3rd . : B) - 4th
C}) 5th D) 6th.

wrle L Cuaereudler LQurgs 2 pullerigeie, adsemar Cuen y@bBT Hlwwesid

Glelwers 7

A) B)

W= | e
Gl G|

C) D)

What proportion of members can Governor nominate out of total members in
State Legislative Council ?

A) B)

C) )

Q| b= o f o
Guime i

- 701



it

49,

50.

51.

52.

19 MART
welly Qs Heutugmisaeild sramuL@d soure Bpblétiae
A) @f@mrr@Ga.Tm_‘ﬂs&r B) afiberigie
C) afGurenswretie D)  @BemmGur@meurilest.
What ls the respiratory pigment found in humén RIBC ?
A) Haemoglobin B} Hemerythrin
C] Haemocyanin D) Chlorocruorin.

£ Qerssiu L abhs oo Corg eflurs Qur@mbgalavene ¢

A)  wewwTe UTENDSET — SL_EYTIT

- B) GQgf u;améu ‘ e gyl
C)  &esoetimbyl LITen — @fhusyrriv
D) euem — Hiehameyl.

Which one of 'ne {0)'owing pairs is incorrect ?

A) Sandstone = Cuddalore

B) Terisand o Olermapuri

C} Limestone — N, Ariyaiur
D) Alluvium — Thanjavur.

855 Cuhdly Sleamr  eveisvgrle oy Aoein G nite gre Bludldaiud L
aC: '

A) 1892 B) 1909

C) 1919 ’ D) 1935. -

In which year was Satyendra Sinha appointed as a member of Viceroy's

Executive Council ?

A) 1892 3) 1909

C) 1919 D) 1935.

@ﬁ@&lmrr 2 BESETOW Spéemol peodler 2 salluy BILESILL L §) ?
A ey, e, oy B)  Guhe Omiwaf

C) y.Gs D} . erev. g.
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Rourkela steel plant was sel up with the assistance of
A) USSR _ B) Wesl Germany
C) UK : 18} USA.
53. @hélu urgr@pben beol_(penpuliey Lsw Crrd SmiupeiuBssiul L e h
A) . 1945 -~ B) 1950
C) 1962 D) 1976.
In the Parliamentary procedure of India, zero hour has been in existence since
A) 1945 B) 1950
C) 1962 D) 1976.
54. &p&asso_aupenn sresullaslig Ll guel@e :
I Glpereul. &L LD
II. Heorud @QUESD
L voredn G @-CenenGuri® idmssb
V.  somellwel ~mewiii & S .
@eubmen sfluneeng Goite :
A) LI v, | o ANV IR
C) IL 1 IV, I » D) J. VLIV L
Arrange the following in chroﬁological order :
I. Rowlatt Act
II. Khilafat movement
L. Montague-Chelmsford reforms
IV, Jalianwalla Bagh tragedy.
The correct order is
A) L AL, 1V, I B) I IV, 11, 111
C) I 1. IV, 11 ) 1,1, IV, L.
55. sfprTiigd, NH 47 GOnp(ereneve
A)  Gswib apsee seralurgof ey
B)  wgeor was @Tlweveurh eueny
) BIEGOLLIGeTD (pHes Gamubydart ;;ucmlj

D)  Qadtemea WoHe HoTHdee suan.
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In Tamil Nadu NH 47 is

A) Salem to Kanniyakumari B)  Madurai to Rameshwaram

C) Nagapattinam to Coimbatore D)  Chennai to Dindigul.
56:  pdmaon. eupmei Gi..doel §PULIBSHD ereiyl Sien pheULBoug ag ?

A) audQBe spUiLibgHID | B} yem glubhsh

C) empgl @raler guubsD | D) @e&bleraL.

Which among the following was also known as Delhi pact ?

A) Lucknow pact B) Poona pact

C) Gandhi-Irwin pact D) Communal award.
57. efgpéaé,sﬁcm FnDOIGEmET L6 : ’

Y sTemevs T 6t esig) gpub Gan Gt @by Gt &atisH (.

—
v

0. 4y eWfckseis dlassdia 2 sier Hasd oODhe <emey Uysh wHobd

2_n @ ur mpet et an s deedl 2 gadlnsl.

Gloubmie :
A)  ToHoub I sfureteney Bl Iwhob [T seuprerencuy
C) 1ef 1l peoum; S D) rgeeny. Hafl

Consider the following stalements :
L ELISA is a isolopic immunoassay.

II.  This is used for the determination of small quantities of proteins and
other biological substances.

Of these
A) I & II are correct B) [ &Il are wrong
C) I is correct, Il is wrong D) Tis wrong, I is correct.

58. sderu@ nambsaner el L LTRSS WD
A} eswre Goiey Gleuge B) arpsalue flgse
C) .qmﬂuﬂ’r'nln_; weopde Js0s@sse D) meog Bisiy won.
Sulphide ores are concentrated by |
A) hand picking B} magnetic separation

C) gravily separation D) froth floatation.
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59. @arellé wreveuiseien Gaweurn( :
50 &@ QubHEp 1
T 40 Hmihd 30 wpmd 20 whmib
, ‘ 2HhE B 2BheE G 2i5DE G
LD
bl 9 40 74
2y Bidleuid 5 30 65
gyl 6 35 70
Sybflosdle @ophsuled 60% wHiuds Gubhp wraoeuisener  sgrsfhiic
@oDheul.eb 40% LHUGUE Gupp wratarsaCam® uifosds faolbeb
rewTaut&efer saaldlain erester 2 i
A}y  43% B} 41%
Q) 50% 3) 45%.
Performance cf st.dents in an examination :
Marks |
Qut of 50 | 40 up 2L ave 30 and above 20 and above
Subject \
. ? E/”
Tamil OFFN 49 74
English 5 30 65
Aggregate 6 35° T 70
The percentage of number of students getling at least 60% marks in English
over those getting at least 40% in aggregate is approximately
A)  43% B) 41%
C) 50% D) 45%.
60. Gamreur @hdlw Guuydle Generssiul L. aubBL-b agl 7
A) 1956 B) 1959
C) 1961 Dj) 1962.

In which of the following years Goa joined Indian Union ?

A)

C)

xxxx [1502 |

1956

1961

B)
D)

701

1959

1962,



T3

61.

62.

63.

64.

65.

23 MART
& p&eesoreupmie’ ‘@i Gursud' usdlilseediar g dlflur wri 1
A)  stgoedu flar B} dm. el &
C) pevseol Nybwrésmd) D) &l & aev. sur.

Who among the following was the editor of ‘Suryodayam’ ?

A) Subramaniya Siva B}  Thiru. Vi Ka.

) Neelakanta Brahmachary D} - V.V.S. Iyer.

Qa6 )l -Can e BIHEG «revnreerennnn 6 2_alengl.

A)' OBameudst Nwr B) LL(SI)’H'@LJITG‘?UO%L%UJI:T
C)  swCenmducsSuit _ D) el grGLmendsiSuit.

Kennelly-Heavyside layer is prcseni in the

A) Mesosphere ' B) Troposphere
C) lono:phzre " D) Stratosphere.
Sern SUCLnt mevL G LuDm gg_,,cﬁm@ '

A) 1764 . B) 1765

A
]

C) 1757 T2y 1857.

-
h

0

The battle of Plassey took place in the year

A) 1764 B) 1765

C) 1757 D} 1857.

Sjbley LoenLp B (HEUTE ST

A) BT orsur® B) gel wrsurh
C}  srpny wreuTd — D) dle wr&ur@.
Acid rain is caused by

A) water pollutiér; ) noise pollution

C) air poliution D) land pollution.

Jiberevd Gampi urbuesyeows Corbnalgseut wrf 2

A} (LPHEOTD @Y ey T e0etT B)  ugnhgsen

C)  alisgumeviwet D) s dlgu Gampes.

xxxx [1502 ] 701 { Turn over



MART 24
Who was the founder of the Impcrial Chola dynésty ?
A) Rajaraja 1 B) Parantaka
) Vijayalayan D}  Aditya Cholan.
66. Lelller euwg 2 &Csewrs ’
A) 45 Neeluet aupLiiser B 18 NeellueT aumpLiest
C) 2250 Hlevedhwetr eumL ksl D) 1950 Bleveflwes su(pLiige.

The age of the earth is about

A) 4-5 billion years Bi 1-8 billion years |

Q) 2250 million years D) 1950 million years.
67. Oewall GUTD aUBLTETD" eTaIDT 6 eien ?

A)  SeNBUT UL et WTeTWD Hiee s

B)  eufl Qe o Gurs 2 aier Hlsy euhomesib

C)  gafipui eugra s b Brhn Cleewey Bhses
D)  Gsdlw cumurestd Cail HTeshd Hfseurs . «
Disposable income is equal to \ 1

A) personal income minus subsidir?s '

B) personal income minus taxes

C) personal income minus transfer payment

D) national income minus depreciation.

68. aeurs Gais emallemans sl QUUESSND, uTTLTlEBaD ‘Hours ewwbd' 2 siaang
(PBE (PHOTS &L MBSl |
A)  Deveneieudd B) Gamedll
C)  Gueblev D) e miedlm.

Who [irst reported the presence of ‘respiratory centre’ which maintains and
 controls the rate of respiration ?

A) Mislavsky B) Collip
C) Bayliss | D) Starlin_g.

69. 1979-b g emGL a8 graid sen FLL- S5 Gubdiu wrbleb
A)  Gagenm B} sy & ameigusit
C)  Gupe euriE 6D ' D) sllpmr@.
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The anti-defection law was enacted as early as 1979 in

AN) Kerala B} Jammu and Kashmir

C) West Bengal D)  Tamil Nadu.
g erett. ¢ el @rLemi Glemips arpe wTHflerws, a»%tfmu__@[bg,sur'r&,a?
A)  eurl ey whopn Sliflé B}  Ggev wihnb Giobigdgs
C) Gosal whpin Cuomes D) eledleev bhnn Qevales.
Double helical model of DNA was discovered by ‘
A) ' Watson and Crick B) James and Meselson
C)  Jacob and Monad D)  Wilkins and Levene.
yellldlest egmef oiL.iéd) |
A 5817gem™ _ B) 1llgem™
C) 3gaa’® Vo 7 D) 35gcm™.
The average density of ‘tb:: czgth ise ,
A 5517 gem™ ' B} 11gcm™
C) 3gem™ N D 25gem™. .
HEUDITET ET600T 6TF 7

5, 11,23, 47,90, 191, 383
A) 11 B) 47
C) 191 D) 90.
Find out the wrong number :

5.11.23.47.90. 191. 383
A) 11 B) 47
C) 191 D) 90,

@bdu spsre Gadlu dymoiyp Ceemeeaminiyg Slib ( NREP } ahg 400G
SDIPSHIIRSSIIC LG 2

A) 1978 B) 1579
C) 1980 D) 1982
1502 701 { Turn over
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In which year was 'NREP" ( National Rural Employment Programme ) launched
by Government of India ?

A 1978 ' B) 1979
C) 1980 D) 1982.
74. SARFAESI 6Ll LD bt Crr&ssaéens ggtndlé,g,uul_'-x_@ ?
A) ukigdehenseow HLHOLUHGS |
Bj (PRGRTE FHEOFOW PUHGLHSHS
Cy Rdsdlseas FTGeLw -
D) cukdleehies setmemihsamen GlgudLIB5HS .
SARFAESI] Act was introduced for the purpose of
A controlling stock exchanges
B) regulating; < anital markets
C)  strcamlining (be f mmcia?‘_s'ystem '
D) enabling the banks to re alize their views.
75.  SlphametiLcubmien ‘erOett apesTDmD rr;.rrsn’ ‘ig“_'_'__l_'b‘; 6T 65T 7)) @{mkpéﬂ,uu@mg erg ?

WB)  C Rodidbd

A)  Geueuev gl
C)  Seownsereamen grahep Sl b D) - Quperetor ot s HlLLib.
Which among the following was kﬁown as June 3rd Plap ?

A Wavell -plan : B) C. R. plan_

C) Cabinet mission plan D}  Mountbatten plan.

1 76.. A, B opnid € uesfillles 2 efreneuime: B, A whmid E ugseuiser; A, C wpnn D
Baayd cusdurararisei; D. A wpnpd E Gpiovuraaitsd caafild, @ wrr

uegilfiée 2 efemeurt, eusdlumesreut . gy emes Critemwbwbmat ?
A} B B} B
) A Dy C.

A. B and C are employed. B, A and E are educated. A, C and I are very rich.
D. A and E are honest. Who is employed. very rich but not honest ?

A) B ' B) E

C) A D) C.
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oLGrireuenst Ll aimeuarannet abs 2 Garapdler orauLTmst
A)  Qussi_Gevaiwuib B) inmeSiimend
C)  w&eldlub D)  wrhsels:.
Pyrolusite is the mineral of |
Al Mendelevium 13) Molybdenum
C}  Magnesium D) Mangancse.

fhgGeuell praflen epprefisgamss sribss ?

A} BeTIYDD B)  ypmed

C)  dlymob D) sueuprd-
To which does the Indus valley civilization belong ?

A) Urban B)  Suburban
C)' Viliase D} Foreign.

&Cp 2 efiencn e Mgy rﬁl!'éj @hdlu  opdue el gl slplyy  SybekseTTS
sapUUGE T mE 2 -

A soveeut/odlui wpen i, ephepnwm” & whHiryd @@&f.’-éﬂ (LPEOD
B)  umprEhwesD, @gbemg)mrruﬁ-\?gb@tl @ s5L.8 e

C)  uUMOTE@BILESTD, Sni LI g La[bg;jtb LOGL. &) (esD

D} | umprEnoesn, @(Dcmgoumf_&ﬂ whHnb uesl§l (eon.

Which among thc following is rclated 1o the features of the Constitution of
India ? '

A) Presidential, Unitary and Two-parily system

B} Parliaméntary‘ Unitary and Two-party system
C) Parliamen-tary. Federal and Multi-party system
D) Parliamentary, Unitary and Multi-party system.

S|EEBIMD LISTOID eTESTMT &7 6b160T 7

A).  wéseeflLp oasasd QHEGD CHTLE + beaseld GoHemeu ameuly

B)  io&sefler engsus Grrl @ + Hghae dlnusnd Cadliing emeuliy

C)  wasehle emssus Crrl( + aundlaeler Qurgeme aeuliy + Caames emauiy

D) waselar waeus Curl @ + aimald@n smeutiy.
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81.-

82.

83.

84.

What is Broad moncy ?
A) Currency with public + demand depositls of the public
B} ‘ Currency with public + post office savings deposits

) Currency with public + time deposits of public with banks + demand
deposils

D} Currency with public + derived deposits. .

FClp saplu_Heteneupie Ghdlw odluseniy sl Ldle abg Wfley uryre@pwesipd
ydlugns odle @hdu Sraluaiiaw 2 (Haurss aems Qeldng

A)  Ofley 303 B)  9fley 307
C)  9fley 309 D) Ofley 312.

Which one of the following Articles of the Constitution of India authorises the
Parliament to create new All-India. Service ?

A} Article 20 B)  Article 307

C)  Article 309 £ D)  Article 312,

Sl poHT gt Qs [ﬂsuuum;us*t;'

A)  13elsbesgy Hluf l Bl 21 enlsh sgiy &8

C) 3 1eledagy $L6 \ D; 4w lel agi Sub.
The total land area of the state of Tamil Nadu is

A) 1-3 lakh sq. km B) 2-1 lakh sq. km

C)  3-1 lakh sq:km : D) 1:4 lakh sq. km.
CuudisHmer aWEID uPHaHD LPBHIT (PBH aThHHE G&ngpa‘ﬁ arabdle Comaidiug 2
A)  weeTh G\TTs @)TreeT B) @urGatdigan

C) wserd @Uw&rrgﬂgrr&ein D)  @psend GRemGgkiaes.

In which Chola King's period was the practice of writing of ‘Meikirti’ started
first ?

A) Raja Rajan | B) Rajendran

C) Rajathi Rajan I D)  Kulothungan 1.
Elpéaet_euphics ergl Gleueflllur’_ Gé small )oene 2 A

A edllGLmeE) B) sl spefgdleny
C)  onbss® . D) QGesr gésniGlumdl.
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Which one of the following is not an output device ?
A) Speaker B) Compuler monitor
C) CD ’ [D}. Laser printer.
85. &fley waiLad Gl euflGu aflapw Qun@&r B&SHLILHIG
A} allyeudy B)  gsuey® uyeué
C) GITEOOTIY.& HLHGHEL D) @Wc&art_mpeb HLHGHE.
« Passagc of waste product in the rcnal. tubule is an example of
A) diffusion B)  osmosis
C) active transport D) passive transport.
86. Weteumeuameupmue Guflenn Qariiurer pssss LD @ubpii rd <, G001 (1} 7
A e85 | 'B) 1976
C) 1986 e D) 1992.
In which of the following ycbrs C1'iz :nship Acl was not ax;lended ?
A) 1955 : s \ ) 1976
o

C) 1986 D) 1192

87. WeraumaisaupBlédr Bemi e @)emassieon sesori Bluayb 2

A oubGs wreyD — UhghD Shaly m'_i_.r'ré\
B)  euhsidifeSenen o — Ol L 6B (SyLy

€ Gagryeoud urgfoy  —  Gprered

D) @@Qm Gadlu Grrameu  — BmaTed.

Which of the following is incorrectly paired ?

A) Vande Mataram B Bankim Chandra Chatterjee
B) Partition of Bengal - Lord Lytton
C) Vedaranyam March — Rajaji

D) [ndian National Army — . Netaji.
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88, whHp 2uifleomseer 2 @@ eurqpd 2 OMesthisel L

S el eTpent .
A)  petGeurise B) o pusdlurertsa
C}  Hevgliueut el D) erpesoranise.

Organisms which eat other organisms are called
A) consumers B) producers
C) decomposers D) saprophytes.
‘ 89.  erheren-L M eTadilIg)
A 6 Hnel B oo uweun ) Owestour e
C) o® Geueurl () Gwerblumgen D) & eussturmst.
MS-DOS is the name of
A) a deyice B) an application software
) an operating sysczvdd & - D) a hardware.
90. uayseNes gL Slaume Lsic ik arkiseaars eewure Luatu@h sgref
A) sl @Gseyush B @eLdlow ‘
C) @esésgnad N DY D,k zé snmefl.
For dealing with qualitative data, the best average is
A) Arithmetic mean ‘ B) Median
Q) Harmonic mean D)  Geometric mean.
91. urelweiLreg) LGy @Gseu e ClgnL T eI wsy
Al sreughsen B) aSeviidlerimsel
C) yeosugbEEsaT/UTS o D) uréefur.
Palacontology is related with
A) plants ' B) " animals
- C) fossils . . D)  bacteria.
92. f© sapspdlaniian curphans epewyd LaTUTL oD elfdamyiing
A) gaalansbaalud B) eyl allwe

C) pedlwe D) Qesielwe.

XXXX 701



ik

93,

94,

95.

96.

31 MART

The description of a society’s culture and its way of living is called

A) Ethnography { Inavilakkaviyal } B)  Anthropology [ Maanudaviyal )
C)  Realism ( Nadappiyal ) D)  Classicism ( Chevviyal ).
Qe afiihglu Ly SlflesGumay ety Db gl qenaniey FHURSSILLL 3y 60o1{H)
A) erturev, 1800 B) g®ar, 1800

C) Gw, 1801 D} sg®etr, 1801.

‘Dindugal Federation” was formed during the South Indian Rebellion in the year
A) April, 1800 B)  June, 1800

C) May, 1801 D}  June, 1801,

L. el Hpb suemTUL RSET 6 5DHT &i(fhalls e mai ums&ru@égg;uu®aﬂe‘61gjw ?
A)  yeisnadisughimeaner Ceaflshe B) uglurbe Galw

C)  uriencubeahs weplles emeudes D) Qengss.

Diagrams and ¢ ephs are'tools of

Al collection of duta ¢ . B} _analysis

C} presentation T D) ' summarisation.

ble gflaora sl aengeanss @a‘srrcdﬂ}w;gt S

A) @ﬂa’msmrr > B) L1 Ty g

C}  evenmb D) _sbpma.

The largest sharc of mincral resources is accounted by

A) Orissa : B) Maharashtra

C) Assain ‘ D) Tamil Nadu,

PO BH76gld wasablgToe 513,200, G apLsADe 12% adp aldlgsde
2 WIThaTe, Apedin eUGELESEHHG UnG Sphrersdlear neeaaarensd eadaans
goseb 2

A) 7.12,009 3) 7.10,029

C) 7.21.009 D)  7.92.100.

The population of a city is 5,13,200. If it increases at the rate of 12% per
annum, what will be its population after 3 years ?

A) 7.12.009 B) 7.10.029
C) 7.21.009 D] 7,92,100,
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97. & 1. 3 9 b BIOOTEHIGED (PpHS s BAKTH KoL Cubp @)L b

A)  oeuamed , B) urLedlusdigh

C)  ameiudi D) gumdlysb.

The first Jain councilwas held at .................... in the 3rd Century B.C. .
A} Vaisali B) | Pataliputra

C) Kashmir D) Rajagriha.

98. gbep Hlp efléapeon whnw giluda pefl saamn 2 omLwg
A) MASER B) LASER
C) TESTER D) MASTER.
An enhanced beam of monochromatic and coherent light is called |
A) MASER | B) LASER
C) TESTLX D} MASTER.

99. Gurflée, 20t Bos «SsFelen ) GOHLULGEHHEGD, UTEITGW  SEFHeT  cuphsiy
Bloumgeflesr Qi !
A Hpelour o | 2). JrboGsun

C) 2dpiu’y W D) dhapsih.

What is the name of the land donated by Pandiya kirgc o the families of the
~ soldiers who lost their lives in thc battle ? '

A) Thiruvidaiyattam , B) Bhramrﬁadeyam
C) ' Uthirapatti - |9} Nivantham.
100. apés sampiie Glhéeh smyruses seorlu LweTuGd Glurmar
A)  MnO; ({ Gohismetay e o &amen( )
"B) KMnO, (Quriirdlub QuirnriesGert. )
C)  KyCry, O, ( Qumiirdlub el &@CrmGioL. )
D) KNO, ( Quri_néluib epc Gyl ).

The oxidant used in the testing of alcohol in breath is

A) MnQ, B) KMnO,
C} K2Cr2'07 ) : D] KN03 .
XXKX | 701
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Identify the compound sentence :

A)
B)
C)
D)

As he was sick. he did not attqnd the class
Though he was sick, he atiended the class
When he was sick, he attended the class

He was sick, yel he attended the class.

Identify the compound sentence :

A)
B)
C)
D)

If I were a bird, 1 would fly
I am a bird, so I will fly
Being a bird. ! will fly

Because [ am a bird. | will fly.

Identify the simple sentence :

A) He worked hard. but he could not succeced

B) Clim'» r.g, the hill I saw the dog

C) Lalloo was s¢ tired 3;;'-1 he took rest

D)  While I was returning n:).n? U met Uma.

Identify the complex sentence : \

A) He was sick and so he remained ;t hoe

B)  Though he was sick, he did not remain at home
C)  Being sick he remained at home

D) His sickness made him stay at home.

Identify the complex sentence :

A)
B)
C)
D)

We must eat or we cannot live
Unless you dance well you cannot win
The news is too good to be true

I have nowhere to sit.

Identify the positive degree :

A)
B)
C)
D)

Very few poets of the world were as great as Kamban

Apple is costlier than mango

‘Ravi is more intelligent than Murugan

Tagore is greater than most other Indian poets.
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107.

108

109.

110.

112}

113.

114.

xxxx [ 1502 ]

A)
B)
C)
D)

34

Identify the positive degree :

You don't know him better than 1 do

Very few animals are as useful as the cow

This is the most useless of all my bags

Australia is the largest island in the world.

. Identify the positive degree :

A)
B)
C)
D)

My father is the richest man in the town

No other man in the town is so rich as my father

Kolkata is bigger than any other city in India

Kolkata is the biggest city in India.

Identify the degrec :

Iron is the most useful of all metals.

A)
C)

Positive rlegrze

Comparative d:gree

Identify the degree :

B)
D)

The Eiffel tower is taller than Qutb Miﬁl?‘.};

A)
C)

£

Comparative degree %

Positive degree

. Find out the odd word ( adjective ) :

A)
C)

A)
C)

A)
C)

A)
C}

invert

inversion

Find out the odd word ( adverb ) :

successfully

successful

Find out the odd word ( verb } :

nationalize

nationality

Find out the odd word { noun ) :

decoration

decorative

701

B)
D)

B)
D)

B)
D)

B)
D}

B)
D)

Superlative degree

None of these,
Sriserlative degree
None o. t') 251,

invertebrate

invest.

success

SUCCESSOor.

nationalist

nationalization.

decorate

decorous.
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115, Find out the odd word { noun } :
A)  oppose
C) opposite
il6. ‘Se}ect the correct plural form of
_élock —
}I\) clocks
C) ciockes
117. Select the correct plural form of
Swine -
A) swiness
C) swine
118. Select the correct plural form of
thief —
A) thiels 4
) thiefes .
119. Select the correct plurudforn of
medium —
A} media
C) medias

12G. Select the correct plural form of

wolf —
A) wolfs
C) wolf

121. Select the correct sentence :
A) I hurt myself
B) Myself | hurt
C) ! was hurt myself
D) Myself hurt.

122. Select the correct sentence :

B)
D)

B)
9]

B)

D)

B)
Dj

N\

D)

B}
D)

A) She sells sea shells on the sea shore

B) She shells sea sells on the sea shore

C) She sells, sea shells on sea shore

D) Sea sells she shells on the sea shore.

" [ 452} xxxx[T502]
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opposed

opposition.

clock

vlockies.

swins

swineses.

thieves

thiey.

mediems

n.iintnies,

wolves

wolfes.
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124.

125.

126,

127,

128.

129,

130.

131.

3. Select the correct sentence .

A) He is an inemployed youth

B} He is an unemployed youth

C} He is an enemployed youth

D) He is a disemployed youth.

Select the correct sentence : .

A) If you work hard, you should passed
B) If you work hardly. you could pass
C) If you work hard, vou will pass

D) If you work hard. you would passed.
Select the correct sentence :

A) This is a most unique cccasion

B) This i a more unigue occasion

C) This is a uniue ocecasion

D} This is an unic,ue‘or'é.as_ion.

Find out the error :
He 1ismy cousin brother
‘A B c D ek
Find out the error :
None was good Noerror
A B of D
Find out the error :
She gaveme an one rupee note
A B C D '

Find out the error :

__‘.-V'

Besides English 1 can also spocke Hindi

A B ' C D
Find out the error :
A little bird usually fly fast
A B C D
Fill in the blank with correct Homophone :

I went to the shop to buy some ........... P
A} floor B)
C) flour D)

RXXX 701

flow
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132.

133.

134,

135.

136.

137.

37 MART

Fill in the blank with correct Homophone :

His voice is ............... .

A) horse B) hoarse
C} hoarsed D) hiss.

Fill in the blank with correct Homophone :

My friends ............... the potato.
A} peal B}  peel
C) pale D) pill

Fill in the blank with correct lomophione :

............... has won finer victories than war.

A)  Piece ' B)  Peas
C) Please D} Peace.
Fill in the blank with correct Homophone :

Abe smilerl wh en the warder unlocked the ............... .

A) sell Ve B) cell
C) well s D) hell.
Comprehension :

River Amazon of South America has the groatest flow and is navigable for two
thousand miles. It is longer thaﬁ‘u}r’angtze rives, aiso known as the lifeline of
China. However, the Amazon river is not as long as .hv. Mile of Africa. The Nile is
the longest river system of the world.

Which river is known as the lifeline of China ?

A} Amazon "~ B) Nile
C) Hwang Ho D)  Yangtze,
Comprehension :

Napoleon was the son of an [talian noble man. He was born in the Island of
Corsica in 1769. He joined the French army. By the time Napoleon reached the
age of 26, he was already a General. In 1793, he supported the French
Revolution.

When and where was Napoleon born ?

A) Napoleon was born in 1679 in Italy

B) Napoleon was born in 1769 in France

C) Napoleon was born in the Island of Corsica in 1769

9]] 'Napoleon was born in Europe in 1916,
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138.

139.

140.

141.

Comprehension :

Interior deccration is not a modern invention. The Persians were the pioneers in

‘making carpets. Akbar, the great Mughal ruler of India patronised this art. Even

today we can see a few samples of mats manufactured during the Mughal period
in the Metro Museum of Art in New York, U.S.A.

Mughal period mats can be seen in

A) Persia B) Tamil Nadu
C) North India D) New York.
Comprehension :

Jesse Owens walked over to Luz Long's room to thank him. They sat in his

quarters and talked for two hours about athletics, ourselves. the world situation,

a dozen other things. When he got up to leave. we both knew ‘that a real

iriendship had been formed. Luz would go out {0 the stadium the next dav tryving
o beat him it Le roold

Where did they sit and diset'ss a dozen other things ?

A) Stadium B} Indoor stadium
C) Hostel \E ! Juarters.

\
Comprehension :

Beverages or bottled drinks like Mirinda, Fanta and Pegrsi ¢rntain chemicals
which are harmful to our general health. Natural cold beverages like buttermilk

and coconuts are cheaper and harmless. They make us healthy also.
Which of the following statements is correct ?

Al Beverages are harmful to our health

B) Beverages are harmless to our health

C) Natural beverages make us unhealthy

D) Natural beverages are costlier than bottled bevérages.

Identify the sentence pattern :

Rama killed Ravana. ‘ “
A) SVO B} SVC
C) SV D) SVQOC.
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142,

143,

144,

145.

146;

147,

148.

149.

39
Identify the sentence pa'ttern :
We elected him the leader.
A) SVO -B)y 8VC
Cl sSvVOocC D) SV
Identify the sentence pattern '
We visit our, relatives in vacaltion.
A $SVOC - B) SVIODO
C) SvVcC D} SVOA.
ldentify the sentence pattern :
My brother gave me a present. _
A) SVOA By SVIODO
C) S5VOC D)y sSvCa
Identify lbe sentence pattern : -
He borrowec. c1 book last.week.
A) SVoOC e B) _ SR S
C} SVIODO A D). SVCA.
Change the following Verb into Noajfusim -
Collect — N
A) collecting B)  coliec e
C) collection D} collects.
Change the following Verb intoc Noun form :
Neglect —
A} negligence B}  neglected
C}  negligible D) negate.
Change the following Adjective into Adverb form :
Deep —
A) decpened B) depend
C) deepness D) decply.
Change the following Adjective into Adverb form :
Perfect —
Al perfecting B}  perfectful
C} perfectly , ' D) to perfect.

xxxx | 1502] [701)
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150. Change the following Noun inio Verb form :

14

Success —
A) successable B)  succeeding
C) sSuccessor D) succeed.

151. Select the correct voice form and fill in the blank :

A few reminders ......... e to the officer.
A) have been sent B}  will send
C) is being sent : D)  be sent.

152. Select the correct voice form and fill in the b!ank :

You ...l if you disobey.
A) are being punished B)  will be punished
C) has be-r parished D)}  will punish.

153. Select the correct voi.e ﬂ)rmr;.:-ld-fill in the blank :
He remains unperturbed. evers L2o1.gh he o '
A) has defeated }_;.‘, kad defeated
C) has been defeated N D) o owere rofeated.

154. Select the correct Passivé‘Voice "

The table can ................. by him.
A) lifted : B}  be lifted
C) lifts D) lifting.

155. Select the correct voice form and fill in the blank :
Let the poor ................. .
A) insult B) insultéd
C) is insulted D)} . be not insultéd.

156. Fill in the blank with a suitable participle :

The teacher scolded the boy ................. in the classroom.
A) play B) played
Ci playing ' D)  was playing.
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158.

159.

160.

161.

162,

163,

164.

xuxx 1802 ]
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Fill in the blank with a gerund :
He did not like ........ - late.
A) to work B)
C}  working D)
Fill in the blank with a suitable infinitive :
He showed me how ................. a fuse.
A) to fix B)
C) to be fixed D)

Fill in the blank with a suitable participle :
....... vevrerne. sick, he did not atiend school.

A) Be B)
C) Is being D)
Fill in the hlank with a suitable participle :
This Is a wo'x already .L..s.. L by him.
A) finish ¥ B)
C) finishing L D)
Select the correct question taé : 1

Do this at once, ................. ? N |

A)  did you ‘ B)
C) don't you D}
Select the correct question tag :

Come home early, ................. ?

" A) do you B)
C) will you D)
Select the correct question tag :

Your sister looks well. ................. ?
A) does she B)
C) doesn’t she [8)]

Select the correct question tag :

Have some more rice, ................. ?
A) doyou B)
C) haven't you D)

701
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having worked

was working.

fixing
havlng fixed.

Being
Was being.

finished
to finish.

dusou

won't you.

don’t you

didn't you.

don't she
didn't she.

will you

have you.
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165.

166.

167.

168.

169.

171.

172,

Select the correct question tag :

There is a mosque in that street, ................. ?
A) isn't there B) hasn't there
C) didn't there ) D) did there.

Select the correct tense

Stephen Hawking ... the greatest ol the living scientists.
A) is B) was

C) had been D)  were,

Select the correct tense :

All the students ................. the special class last week.

A) had attended B) attended

C) will attend D) would attend.

Se2lect the correct tense :

IO _ SRS 1ni- starv sinee 10 O clock.
A) has been writing o / B)  have been writing
C)  was writing : - D) have written.

Name the correct tense form of the urd :\'sacd rords :

A) past perfect B) presen' rr.rtect continuous

C) past perfect continuous D) future perfect.

. Se¢lect the correct tense :

Hyoucall me, I..ocoeen.... to your help.
A will come B) would come
C) came [8)] had come.

Fill in the blank with suitable article :

Ramya has come without ................. umbrella.
A) the ‘ B) an
C) a D)  no article.

Fill in the blank with suitable article :

The girl ate ................. orange.
A) the B) an
) a : D) no article,

*xxx | 1802 | _ (701}
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173. Fill in the blank with suitable article :

Kiran would make ................. better engineer than doctor.
A) the B} an
C) a D} no article.

174. Fill in the blank with suitable articie :

The best way to catch ... mouse is mousctrap.
A) an B} a

C}) no article D) the.
175. Fill in the blank with suitable article : '

Copper is ................. useful metal.
Al a - B)  no article
) an D). the.
176. Fill in th: blank with suitable preposition :
The money v/a; Jivided .. 4 “.......... the thiree sons,
- A) with e B} . between
C) among . D) for.
. 177. Fill in the blank with suitable prepoaron
Peter prefers coffee ................ f té&l{
A): than B) fron.’
C) over _ D) to.

178. Fill in the blank with suitable preposition

He goes on Sunday to church and sits ................. the boys.
A). among B) out
C)  between D) of.

179. Fill in the blank with suitable preposition :

Anoop came to school ................. train.

A) on B) by

Q) through D) at. ™
180. Fill in the blank with suitable preposition :

He arrived ................. February.

A) at B) on

C} in D) along.
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181.

182.

183.

184.

158

186.

Choosc the correct ‘antonym’ for the underlined word from the options given

below :
The utter simplicity of the subject was suddenly revealed to me.

A) showed B) hidden

C)  explained D) understood.

Choose the correct ‘antonym’ for the underlined word from the options given

below :

They had a special building.

Aj right B) common
C) particular D) good.

Choose the correct ‘antonym’ for the underlined word from the options given

below :

Gandhi was meant for frugh. & -

A) falsehood ’ _- B)  violence
C) bold 234‘ hatred.

Choose the correci ‘antonym’ for thesunderlicer, w)ord from the options given

below :

We had to stop ever so often.

A) rarely B) frequently
C) always D)  usually.

Choose the correct ‘antonym’ for the underlined word from the oplions given

below :

All his designs were authentic.

A)  real - B) false

C} conitmon D} audacious.
Select the word with the correct prefix :

A} deordinate B) postordinate

C) disordinate D) subordinate.
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187.

188.

189.

190.

191,

45

Select the word with the correct prefix :

A) unregulér

C) nonregular

Select the word with the correct prefix :

A) ensure

C) cnlive

Select the word with the correct suffix :

A) ‘ shortful

C) careful

Select the word with the correct suffix :

A) tireful

C) tirery

B}

D)

B)

2)

B)

D)

3)

D}

irregular

disregular.

enter

insure,

workiul

ceaseful.

tirely

firesome.

MART

Match the following words gi\.;en iz Column A with their meanings in Column B

and select the correct answer'froni-tpe coder goven below :

a)
b)
c)
d)
Codes :
a
A) 4
B) 2
c)y 3

) 4

xxxx (1502

Column A
blanked
5Can
diminish
outdated

b c
1 2
1 3
4 1
1 3

701

3.

po!t'.: w B
examine

{ reduce
old

disappeared.
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192. Match the following words given in Column A with their meanings in Column B

and select the correct answer from the codes given below :

Column A Column B
a) deter l.. momories
b} grim 2. prevent
c) reminiscences 3. scold
d) chide " 4. fearful.

Codes :

A) 2 1 3 4
B} 1 4 3 2
Ty 2 4 { fr |
Dj 4 1 2 3.

)
193. Match the following words given in Col¥rar. A v'ith their meanings in Column B

"I
and sclecl the correct answer from the codes giv:p Lelovs :

Column A Colun..? 1,
a) Greece 1. Thai
b} USA - 2. British
c) Britain 3. Greek
d) Thailand . 4. American.
Codes :
a b c d
Ay 3 2 1 4
B 4 1 2 3
C) 3 4 2 1
13 3 2 4 I.

xxxx [ 1502 ] 701



L¥ ]

i

Rz

L)

VLAY

194. Match the following words given in Column A with their meanings in Column B

" and select the correct answer from the codes given below :

a}
b)
c}
d)
Codes :
a
Al 3
B) 3
C) 4
D} 4

Column A

quit

queer

amusing

authentic

o
A

2

1

3

3

s
49

'

Column B

1. strange

2. real
3. leave
4. funny.

195. Match the following words givén ir Solwman A with their meanings in Column B

|
and sclect the correct answer from the ctdes given below :

a)

b)
c}

d)

Codes :

A)
B)
Q)

D)

a

4

3

2

1

xxxx [1802] -

Column A

diminish

negotiation
bewilderment

benevolent

a

{owr= B
1. confusion

2, reduce

3. generous

4. bargain.
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196,

197.

198.

199.

200,

Choosc the correct 'synonym® for the underlined word from

below :

The incessan{ rain was terrific.

A) great B) loud
) continuous D) hard.

Choose the correct ‘synonym’ for the underlined word from

below :

He had been summoned by the commissioner,

A) asked . B) called

C} | sent . Dj} subjugated.

Choose the correct ‘synonym’ for the underlined word from

. below :

The door lonks gleamy.

A)  bold . B) lazy

C}  shine e D)  fool.,

Choose the correct ‘synonym for ‘he underlined word from
below : -

Kumar walked cautiouélx. . S

A) slowly : B) - quickly

C) | carefﬁlly D}  easily.

Choose the correct synonym’ for the underlined word from
below :

I was too young at 16 to be [rightened by anything.
A) surprised B) filled with fear

C) empowered D)  in great joy.
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